AMELEE B TERESIRE 7A5R(&) (BAEEM 2% 438 3% 28)

1 Bk 2 7% 6 KAy 1.5% % 4 Bk 2 ik B 5 KAy 1.5% & 7 2 % - 3 % SR 5 K4y 1.4%
af | HIE | BF ) 4 SAL | E | s (55 af | AIE | BE 5 4 ZAn | E H|seEs {§E af | HlE | BE 5 % PPN O e
o) 1 5 |AreATVsA 3:32.9 | 480 | 296 e) 1 6 |[VxATVzvh 2:59.6 | 500 | 146 e} 1 3 |[Tr—ra—r 3:31.0 | 480 | 375

ik |1 RS T AT 480 | 287 e) 2 5 |3HFavy 3:23.7 | 480 | 364 ik | 1 |[7Ysm—x 500 | 379

ik |2 |havs 500 | 241 o} 3 1 |7yR—rs— 3:32.7 | 500 17 ik | 2 [TTEVRTS 480 9

ik | 3 |eadeRS 480 | 318 4 3 |7y 3:59.0 | 480 | 265 Pk | 4 [FHIAART— 500 | 129

ik | 4 [T 500 | 127 Bk | 4 [PzARUR 500 | 159 ik | 7 | T=rv—T 570 | 605 3%
ik | 6 |[rewElT— 500 89 B | 2 |[TTESRY Ry 480 4

2 ik 2 i BAE 5 KAy 1.5% 5 g 2 ik SEA 6 K4y 1.5% & 8 ik 2 i - 3 ik G 4 KAy 1.4%
o | AHIE | SE 5 % PECNE O (L e A | HIE | B 5 4 ZAL |E | weEs] S A | ANE | B 5 % SAL | H | mEs| fiE
o 1 4 |t As 3:38.8 | 480 | 125 o} 1 3 | THAE 2:28.7 | 500 | 378 ik | 1 |[TTEVRF 2y 480 5

2 3 |AhreAt== 4:43.0 | 480 | 289 o} 2 4 |r=A 2:30.6 | 500 | 182 ik | 2 |seEhsevy 500 87
ik |1 |RYEIRY 180 | 328 O 3 6 | awEA 3:45.6 | 480 | 167 ik | 3 |A—st—kn 480 | 180
il 5 |ZrUmF 480 267 il 1 |k 7F 480 313 Hk 4 |I=ENTIAR 500 86
Bk | 2 | ~AE—e—F 480 | 380 k|2 | AR 480 | 126 B | 7 (MY Tvx— 570 | 604| 3%
ik | 5 by /Iy 480 | 234
W3 gk 2 % Hi% 6 k4 1.5% W6 i 2 i S 6 ks 1.4%
AE | AN | BE 5 % SAL | E | s i AE | HIE | B 5 % ZAL fii#
) 1 5 77947 3:10.1 | 480 | 377 o} 1 1 |FAFrr 3:13.5 | 500 | 198
) 2 6 |7IBAATAT Y 3:37.5 | 480 | 266 2 5 |Eh/U— 4:21.5 | 480 | 192
3 2 4:39.0 | 490 | 131 3 2[R 5:03.0 | 480 | 179
Hiik O e % 480 315 k| 3 |Vt 480 134
k|3 [P 500 130 fuk | 4 |rvEMY 500 85
k| 4 [YHAIRUENR 500 | 218 fuk | 6 |[EavYavii—L 480 | 261




